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A &<t (Class IX) SET - A

39 (FHAfSar) w3 fefipyt @t GagT €7 SHE
(REASONING AND SCHOLASTIC APTITUDE TEST)
Time : 3 Hours Max. Marks : 150 HHT : 3 ul%

INSTRUCTIONS FOR THE CANDIDATES

1. This question paper is in two parts. 1. feo ums U39 & g1t &g JI

2, ufsr 57T I9 GargT &% AEUS I,

2. Part — I is related to Reasoning Test which

consists of 30 questions. feg 30 YAS IS L.
3. Pa1.°t — II relates to Scholastic Aptitude Test | 3. gﬁ' grar feg WE‘T ifla'l'o""
which consists of 120 questions relating' to 3 ﬁi‘)—l?S'E'ElﬂTg' g fefimt <€ 120 U,'\H?;- IS |
six subjects listed below : (1) gifs=z : 30
(1) Mathematics : 30 (2) HATER : 30
(2) Science 30 (3) mHfAx fefams 30
(3) Social Studies : 30 (4) U : 19
S GIGLLE 10
(4) Punjabi : 10 (5) ;
_ (6) faet: Wbt
(5) English i 10 4. g ums = feeda T A YRS Fget
5 (6)  Hindi 10 - ~

4. Each question carries one mark. All questions 5. ITE fe:-r UHS yFurf':-mT zfe’r fE'fx‘ €39
' e (G #pronrg.) fogt Ar=ail 1 €39 Hie

, are compulsory. < t e
. (G Home.) fET yns € ATt €39 € 38
5. You have been provided an Answer Sheet \ iy \ - =
(OMR) for this question booklet. Darken the §a'8/2§|205 T8 US 8T8 QET?' SIS |
circle of correct option of each question in the |6, g o &3t arst y st gt 3 3T AT
answer sheet (QMR) with black/blue ball pen. Aaer I ¥
6. 'Rough, WOrk may be done on the blapk space |7. fg'):r lﬂ'&l’”‘l"’ 'ﬁé’g fHETE{Ha' (??'8?‘[%%‘)
provided for this purpose. ; Hafear sat I
7. There is no negative marking in this test. 8. €39 Hic (& M M7g.) S ug =Ele

-|~8.. Do not use white fluid on Answer Sheet .(OMR). = <t o !

J-\
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PART — I : REASONING TEST
MENTAL ABILITY

Directions (Question 1-8) : .
There is a number/letter series which follows a pattern. Follow the similar pattern and find out the
correct answer from the given options to complete the series.

?B_rm(’{ﬂ?rl-s): )
W@W%ﬁaﬂwﬁwmhﬁﬁwﬁ,ﬁhﬁaﬁaﬁ%m@wﬁmg
fons YUY J¥ B yIr q95 BE AT €39 TS|

1’4’ 99 16, 25, ceee

A) 35 i (B 34

©) 40 : (D) None of these
. 1,0,3,2,5,4, . S

) 7 . ® 6.

© 5 oy @) 4
. ak, eo, is, ...., qa, ue : w ;

(A) mw ‘ Gt (BY nx

(©) mv TSR NSRRI (D) W

A) 41 RN BLGIHRS SRR INE) 64
(©) 35 S ®) 61
7 s 6 5 oe 4 7? 3
3 G 8 )
(A) 29 s o @B) 4304
©) 31 v @) 32

A) 36 @) 30
©) 32 D) 25
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(A 6 : @) 8

© 7 . 3 :
BD, FH, JL, Np, ___ AR 3
(A) SV 3G, BB
(C) RT | ‘ @)
Hunger : Fooq - : Fatigue : ....
(A) Rest @) L Exhae
(C) Faint D) Vitarmize
é‘u‘:@?l?;::ﬂa"ez:.... e :
A) g - ®) T=E
©) 3w @)} f==bin

i o the given alternag
Select the letters that complete the first word an‘d‘beglns the sgcond from the gi tves,

%@W@ﬁmm§wm%n@gﬁm§@aae' gt
PLAT...ATION

(A) TENT

(B) FORM
(C) TERR

.. (D) IEAU
Directions (Question 11-12) : - ; N

In the following question, thre
Find the odd one that does n

e out 6f four alternatives are same in some Wway and so form g group,
ot belong to the group.

Fuer
11. (A) Square ®) Reétangle
(C) Triangle () Circle
(A) Zaar ®) wfeg
© fggw D) Saw
12. (A) Skin (B) Nose
(©) Ear D) Kidney
(A) ISt ®) 37
©) a5 ®) 3F"er
@) v

P
( M-IX'24]
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13,

14.

Directions (Question 13-15) :

In each of the following questions arrange the words in the logical and meaningful order.
ferr f69eR (Yas 13-15) :
meﬁW§mﬁwwﬁvm|

1. Word 2. Letters 3. Paragraph 4. Sentence
A 4,3,2,1 ®B) 3,2,1,4

L © 21,43 ©) 1,4,3,2
1. W¥d 2 ggw 3. fgr 4. T
A) 4,3,2,1 ®) 3,2,1,4
© 2,1,4,3 D) 1,4,3,2
1. House 2. Street 3. Room 4. Town : 5. District
@A) 3,2,1,4,5 . M) 3,1,4,2,5
© 3,1,2,4,5 ®) 3,1,2,5,4
1. wad 2. aIEt 3. IHaT 4. ST 5. fagT
A) 3,2,1,4,5 @) 3,1,4,2,5

O 3,1,2,4,5 D) 3,1,2,5,4

15. A is the brother of B B is the wife of C. C is the son of P. P is the wife of Q. What is Q of B ?

0 - (A) Mother in Law (B) SoninLaw

(C) Father in Law (D) Brother in Law

A, B ¥ 997 31 B, C €t u3at 31 C, Per &=a 71 P, Q € ugat 1 Q, B ¥ & &arer 47
B) #A<TEr
®) fegs

(A) AF
(C) AgaT

REASONING (VERBAL & NON-VERBAL)
How many dots lie opposite to the face having three dots, when the given figure

16.
. is folded to form a cube? °e
@2 T ®) 4 =
© 5 ®) 6 o s
7 we gefs we foge § Afgwr wier § 3 {3 it 28 8« e
T €%e fas fig aa| .
@) 2 ®) 4 e
© 5 D) 6
(MIX24) (Set- A) (5)
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Directions (Question 17-19) : Select a figure
missing portion of the original.

from the four alternatives, which when placed in the
1 A .

" ferr fseew (YEw 17-19) : 35 fat fegsur &9 fe'a fo'gg g€ # AgwmsT 939 fig

I a2
17. Problem Figure
ATy fo'39

Nz
?

2

@A) a
© c

18. Problem Figure
AT fa'se

@A) a
© c

19. Problem Figure
AHfrT fo'ag

< le>'<1

(A) a
©) c

Answef Figure :
3 .@—v ﬁ (Y]

[z

(a) (b) ©

. ®B) b

M) . d
Answer Figure :

(3 (b) ©)
@ b
®) d

Answer Figﬁre:

€39 fase

(d)

(a) (b)

®B) b
O d

(c)

(d)
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20.. Direction : Figure (4) holds same relation with figure (3) just as figure (2) holds relation with figure

21.

22.

(D. SearCh qQuestion figure (4) out of given answer figures from (a) to (d).
S daae R - SES (4) TT T fo'ge (3) s7& T @7 Igt fo3e (2) & AET 39 (1)
o8 I 1999 (4) § o3 O foggt o 55|

Problem Figure Answer Figure :
AT fe'gg &9 fogg
— | TE 2 | g S S E
1) 2) 3) @) (a) (b) © (d)
A) a ‘ B) b
©) c D) d

Choose the box that is similar to the box formed from the given sheet of paper.
f&St aret wie 3° 98 waw € avs o'y g9 o= |

-

F
Adl-E E | F E D
B B | E E|D B | C E| 2
c|D 1) () 3) C))
X

A1 ® 2
<G 3 D) 4
Select a figure from the given four alternatives which fits exactly into Figure-X to form a complete
square.
fa'3 e fegsyut &5 o' fo'gg g€ # f§'39-X &9 fée aus 3 f&'q yss =qar =
"< ,

X) (D 2 3) (C))
A1 ®) 2
© 3 ®) 4

(M-IX-24} (Set-A) (7}



23. Find out which of the figures (1), (2), (3) and (4) can be formed from the pieces given in figure-X :

(1), (2), (3), (4) fo'gar &3 fauer fo'ge o3 fe'ge-X @ gafont 3 afenr J1

S

®

®

) =

X) 1)
A 1 ®) 2
<G 3 D) 4

Directions (Questions 24 -27) :

Choose the figure which is different from others.
femr fsgenm (yms 24-27):
€1 o939 g€ 7 ot fo'ge a8 waar I

« | D] O] 10]|D
@ ® © @

@A) a . ® b
©) c ®) d

25. O O O O
(a). (b) (©) d

(A) a ®B) b
(©c ®) d

w AN |A] D

@ L0 © @

(A) a ' | ®B) b
©) c D) d
{8} (Set-A)

(2)

(3)

“4)

{M-IX-24}



« (2] [#] [0] [%

(@) (b) (©) (d)

(A) a B) b
© c ®) d

28. Choose the figure which is different from the rest.
€7 939 ¥ ¥ Tt 7% =ygr 3

(1) 2) 3) @)

@1 | ® 2
(C) 3 : (D) 4

Direction (Questions 29-30) : Select a suitable figure from the Answer Figures that would replace
the question mark (?).

fé’ﬁ'm(’{ﬂ?%-w):ﬁ%a@%ﬁ%ﬁféﬁ‘fe‘afaﬁaaiﬁ(?)ﬁﬂw?

BATET AT A | ‘
29. Problem Figure : A Answer Figure :
AT fe3a BA-EcACEr)
® .o b ® | ‘Q @ ® O ® &
®| ® . ® ® o
i \ ® ® o ® o ® ©
- (a) (b) () D
F)Tal 0f HEOTD SH TEE )b BT FE R SgE
© ¢ ®) d
30. Problem Figures : | Answer Figure :
(@) (b) (© @ . M. @ . 03 4)
A 1 ® 2
© 3 D) 4
(M-IX-24) (Set - A) {9}



UDE TEST

PART -1I: SCHOLASTIC APTIT
MATHEMATICS (arfeEx) |
be the point locate ?

If the abcissa of a point x is zero then where will

31
(A) First quadrant B) ' Second quadrant
C) x-axis (D) . y-axis
;E:?faﬁfé?wx ﬁw@nar(a?r)nfsrfnaaa?fs?faﬁﬁfﬁ?a?
(A) ufgst Savet ®) g SEEr o
©) x-33 3 ® yW®3
32. In the given figure find the percentage of shaded region. \
(A) 45% B) 33.34%
(C) 35% D) 37.5%
€3 v f<v sfenr #ifas gmar & YSHIST UST el
(A) 45% (B) 33.34%
(C) 35% O) 375%
33.. If the sum of two numbers is 6 and deference is 4 then whatwﬂlbe the numbers
@A) 5,1 : ®B) -5,-1 e S
©) 5,1 ~ SRR () LTS R
ﬁem@?msmm4ﬁéwmml palitias)
A -5,1 SATERAL it (B) _5 -1 s :
© 5,1 SR (D)5, -1 |
34. If 15 workers can build a wall in 48 hours then how many workers will be reqmred to do the same
wall in 30 hours. _ g Re 0 i :
) 12 Pl ZE RN (B) 2% e
(C) 96 : » ’ (D) 54
# 15 Hago feq €9 § 48 urkwfevwmawzﬂ@tﬁaﬁ 30 fent fSg
Wmmmnﬂeafe?ma? i | 4 _
A) 12 (B) 24
(©) 96 i o (D)54
35. If a number is 64 times the remprocal of its square then find the number
A) 4 L 5N Y T e T
©) 8 Lo e D) B [
ﬁanﬁmmwe@mnwm HIEFUIFTMTUBTHHI
A) 4 (B)' 5
©) 8 ®) 16
(Set - A) {M-1X-24}

{10}



37.

38.

39.

40.

What is the multiplicatjve inverse of - T% ?
(GVRY ®) 12 7

-7 © 19
T
(50 B © L
What will be the solution of 4x — 3 = 9?
(A) 12 ® 3
&2 ®) 4
4x -3 =9 T I& &t FSgr?
A) 12 ®) 3
O 2 : D) 4
What are the factors of 3x — 9? :
(A) 3x(x+3) B x(x-3)
© x(B3x-3) : D) 3(x-3)
3x— 9 € I=54T faax g7
(A) 3x (x + 3) | (B).ﬁ;c(x—.3).'
©) x (3x-3) . © 3G-3
The multiplicative identity of rational number is :
A o @) 2
©) +1 ; ' ®) -1
ufone Aftprret 7 IISTIHT ISAHT J<aTT |
@A) 0 ' B 2
©) +1 | D) -1
Which of the following point is on x-axis?
A) (, 3) ®@) (G,0
© 1,1 ® 2,5
35 fafiurt S5 faosT fe x-u9 3 Afas I?
A (,3) @) (3,0
© a,n D) @,5)

M-IX-24}

(Set-A)

(11}



41.

42.

43.

45.

46.

What will be added to 2 - 3x to get 2? :

(A) 3x ®) -3x'

© 2 D) -2
2—3xféva’rﬁf3wwéi%rzl{'uafrwé?

(A) 3x B) -3x

o 2 O -2

With which number 533163 is divisible ?

@ 5 - ®) 3

© 4 D) 2

AT 533163 faoat fifiprr s FTITGaT I7

@A) S @) 3

© 4 D) 2

The diagonals of a rectangle are (2x + 1) and (3x — 1). Find the value of x. "
A) 1 ®B) 2

© 3 D) 4

weg € fedes =g (2x + 1) M3 (3x - 1) 51 x =7 I UST FT|
@ 1 ®) 2 |
o 3 D) 4

ABCD is a parallelogram. If ZA = 45° then what will be the adjacent angle?
(A) 135° B) 120° ;

(©) 115° . D), 180° ~
ABCD & mHi9e 93987 T1 7 ZA = 45° T It ferer T &< UST J97
(A) 135° U ® 1200 |
(©) 115° (D) "180°

What will be the graph of x = 2?

(A) A line parallel to x-axis ; (B) . A line parallel to y-axis

(C) Aline crossing the main point (D) None of these

x =2 B WBY & g=ar? .

(A) x-UJ & AN3T (B) y-Ud & AN

(C) y& fag &9 Swfemr dfenr (D) et &It
What is the value of (2 x 3)? x 6? ;

A) 1 o B -1
©) 6 | . D -6
(2 % 3)0 x 6 T ¥ & JIm? \

A) 1 ® -1
©) 6 D) -6

{12}

(Set-A)

(M-IX-24)
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B
47. What Is the product of (2 4 1 4 1y ng . 52
A) 2 -1 -
& ((C;r"_z B) 3 +1
: 242
_;‘1;'_ (x2+x+ l)b@(x_l)?mm-é?) + 1

g 3
A -1
B X+1
(C) -2
;'h) erimeter of @) 2%+ 1
2 (-] r
g % - reciangle s 180 cm. If the length is double than the breadth then what will be

60

g o ®) 9

§© ®) 30

‘ ,,'-, M'W?WISOWU'WWWWWE—@? PRI

= (A) 60 Buret ot g=ail
ISR @) 9 :

3 & D) 30

0.08 x 10'° is equals to
S 80000000 _ peicliviel
(0 8000 o 3
~ 0.08 x 10'° F9THg F=arr :

& A 80000000  CTT ERR e AL

(C) 8000 D) 8
50 'How many numbers are there between squares of 15 and 16?

~(A) 30 (B) 31 |

(C) 32 ©) 33

15 M3 16 e'eaarrfeaamfa?ﬁmrﬂfuweva?;?

(A) 30 ®) 31

(€) 32 ©) 33

51.::What will be the value of 5 3/3000 7:

@ 10 ~® 5000
(©) 100 @) 500
| 538000 ©" M &t J=Ir?
(4) 10 B) 5000
(©) 100 ©®) 500
{13}

(M-IX-24) (Set- A)



L

52.

53.

ABC is right angled triangle. If AB = 12 cm, BC = 5 cm. What will be the length of AC?

(A) 13 ®B) 12

© 5 D) 169

ABC f&a mia=t fgga § w3 AB = 12 em, BC =5 cm J1ACE guretat I<ait?
(A) 13 ® 12

© 5 D) 169

In a class of 80 students if 40% of the students passed in subject of English, then how many
students not passed in the subject of English?

(A) 32 ®) 48
(C) 22 . ®) 52

Hag 80 fefonradnt & mrg 48 40% et & feir RS U 2 95 3 O f4B
fefenraet um aat 587

A) 32 B) 48
©) 22 D) 52
54. How many rational numbers are there between two rational numbers?
(A) Infinite ‘B) 1
©) 2 D) 3
%WW@WWWW%WW?
(A) m=fares AT @y 1
(C) -2 ™0 i D 3
5S. Write the rational number which ié 'eq‘ual to its negative. 7
A) 0 T
©) 2 IO B S ‘(D) 3 _
uforer fAfuor fs8 7 Wy fesona € werge 921 \
Ao ' ®) 1
© 2 O 3
56. The area of a trapezium is 480 cm?. If the distance between two parallel sides is 15 cm and one of
them is 20 cm long, find the length of the another parallel side.
(A) 50 ®B) 40
©) 36 D) 44
AHBT 9I9gH ©F 839eH 480 cm? | € ANTST gret feuad gdt 15 cm T | 799 i
AHT3T 39T 20 cm J< 3T AT UIT T |
A 50 ®B) 40
© 36 D) 4
(Set-A) K24

{14}
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57. Which of the fOHO\Ving is equal to alm 0

(A) a50 + a50
©) a®x a® B) al®x q!
N . D) a*%x g2
3 fafrrr S5 famer WS a1 & ggrgg Saam
A) a°+a*° '
B) al®y 4l
(©) @ x a0
. D) a0 x al
58. The number of diagonals in Polygon of n sides is —
nn-1I
A) —5— n(n-2
® 7 7
nn-3)
© —3 ®) n(n-3)
nIHRT TS GIgH ¥ feqoeT o foregt I -
nn-1
(A) nn-2)
2 ®) >
n({n->3)
© —5— D) n(@n-3)
59. Inasquare ABCD, the diagonals meet at a point O. The AAOB is
(A) Isosceles right triangle (B) Equilateral triangle 4
(C) Scalene triangle (D) Isosceles triangle but not right triangle
#ad f&d TJ9T ABCD <9 fegaee fig 0 3 firse 95 3t AAOB féT .......... Il
(&) megHT fggw ®) AHgHT fggH
(C) fauHg#t f3gw (D) AHEgHT f3gH T A<t fagw aat T
60. If the cost price of 10 shirts is equal to selling price of 8 shirts then which of the following is true for

the transaction?
(A) Profit of 25%

(C) Profit of 20%
H99 10 aHiAT € ydte & 8 aHiAT € <9 H& € §9'8d J 3T J& f&fimt iS5 =-

(B) Loss of 25%
(D) Loss of 20%

¥ Bt fagzT Aat 37
(A) 25% BT BT B) 25% € I7&T
C) 20% =T &'F (D) 20% St T&T
(Set - A) {15}
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SCIENCE (fefor™®) )
CHEMISTRY (arfee (&

61. 'Which of the following metrﬂ is used to make objects appear shining?
(A) Copper , B)  Iron
(C) Aluminium (D) Chromium et At AT 7
feust 199 foast wa ot a3 engmt § Syerer fowr@s
(A) Igr ®) BI7
(©) st D) FHH
62. What is the full form of LED ? _ ;
(A) Light Emitting Diode B) Light Energy Diode
(©) Light Electric Diode (D) None of these =
LED ¥T ygr 5t &t 37
(&) Y @Inews sET . ® yFw oW IS
© Yo fedafex sty 0 (D) fegst f&T a€t &t
63. Coating of which of the following metals is used for galvanisation?
(A) Aluminium KA oA (B)aZine ), s
(C) Copper sty feit dn (D) ¢Silver
fegst &5 faogt oz a’ma?ﬂaaa e TIIT A I?
(A) HEHtEny o o Srnd o B), T
(C) 3Itar e e (D) st
64. Filament of a bulb glows, this, happens dde to wh1ch effect of current? ,
(A) The chemical effect of current (B) The heating effect of current
(C) The magnetic effect of current * (D) ' None of thege '
9859 ¥ Jer Just féer §, fezrfana”rwer%m@emwa?
(A)faﬂ?freraﬂffee—oruae_ . ® e gus g
© fomet orgweft ygrw D) foust ¥ a2 ot
65. Which of the following is added to distilled water to make it conduct elecd1c1ty‘7
(A) NaCl <. (B) Lemon Juice
(©) HC (D) All of the above
mwxm?mmwm@ﬁ%aﬁﬁ?
(A) NaCl B) &g er g
(©) HA DO) Sussz mry
(16} Set-a)

(M-IX-24



66. The process of depositin

67.

69.

70.

e
[M~D(-24} : (Set-A)

g any la :
Y layer of desired meta| on another material by means of electricity is

called?
(A) Electric current
(C) Electric bell

(B) Electroplating

fori ) (D) None of these
o & T G R fww oy o wog 5@ o ufsfonr & ot afoe a7

oy Tt ®) fommet whioe
(Ot 2 D) fegst &3 aet
Which of the following is a good conductor of electricity?
(A) Rubber B) Bakelite
(C) Graphite ©) PVC.
Jo fafmt S5 faosr fomst or AOTSE J7
@) 38 - ®) W
(©) F=TEe ©) WA,
Which of the following processes is based on the principle of chemical effects of current?
(A) Distillation - (B) Crystallisation
©) Electroplating (D) None of these
do fafint 9" faust faforr faast gar & anfefex ygre 3 fodgd 9t a7
(&) FHEE . ® fywedees
(C) farset ydHass O feost &8 3t st | |

Which gas/gases are produced during the electric decomposition of water?

(A) Hydrogen (B) Oxygen

(C) Both (A) and (B) - (D) None of the above

Ut @ faaset muwes Sas faaghit dm/dmt e fsawre ger 97
(A) TEIFIHS (B) MIHIAG

©) (A) W3 (B) &< - (D) fegst 9 g &t

Which of the following is an electrolyte?

(A) Glucose (B) Salt
(C) Honey (D) Sugar
5 fafipnt f&5 faoar fedagseie 37

(A) TBIH B) sH
(C) mfaw D) &

{17}



"PHYSICS (3fsa fefaris)

‘, 71. The long journey aeroplanes fly in this zone of the atmosphere to save fuel.
|

(A) Troposphere ‘ (B) Stratosphere
(C) Mesosphere , : (D) Thermosphere
wwﬁwmwmmméWWMWeﬁmm

fSs €3¢ nie o57
A) "H3 135S S B) IV EE
| () Vu=ast 5w (D) SUHFE
| 72. 1If the sliding friction between two surfaces is found to be 15N, then the static friction between those
surfaces would be . ‘ :
| (A) 10N ®) 5N
| © 20N ®) N
! memmmmmlmaywmnﬁmmwm
‘ (A) 10N B) 5N '
| (C) 20N - ' s sk el oy N
73. An object is placed at 20 cm in front of a plane fnirr()r. What is the distance of image from the
| object? ‘
‘ (A) 10cm 5 Rt B) 20cm
| (©) 30cm . (D) 40cm
mmememmﬁaenszo AN & g4t '3 uet 31 ySifew < gt few =ng I faet
J=ai?
(A) 104 : - 0 (B) 20mH
©) 304 D) 404
74. Which part of our eye controls the light entering into it?
(A) Retina : (B) Cornea
(C) Lens D) Is
ﬂ@ﬁmwmm.ﬁm%ﬂwq—%ﬁm@@méﬁ?ﬁsﬁswﬁ?
(A) F&sT (B) TP
(C) B8R (D) »rfean
75. What is the value of angle ‘7 in this dlagram?
(A) 60° B) 90°
©) 30° (D) 40°
&3 3¢ fuge f<v = o = i® forrs a9
(A) 60° B) 90°
(©) 30° (D) 40°
(18} (Set- A) (M-IX-24)




>

vo bodies are repelling ez
76 Z:) Magnetic Fo:::e & cach other. Cause of (hejy repulsion could be due to :
(C) Electrostatic Force ((g; IC;ravitational Force
NG oth (A) and (C)
zg)ééfffawy & MUSTINI &7 getort 25 | wiugane farr v qrae T AaET 97
(¢) AiEe-famst s Eg; S
€< (A) M3 (C)
1. What should be the correct positions where the water should fall down from given outlets?
Water —
A) R—>B,Q—=AP->C B) R—A,Q—B,P>C
€ R->CQ—-B,PA ®) R—»B,Q—»C,P—>A
‘ﬁ?ﬁﬁfEWS'ﬁEEpHTETIIQfTEFERTEEHFE'E!HEﬂImHQ?Eﬁ'ﬁé?EFTﬂ??EﬁF?
"(A)R—>B Q—A,P>C ! .B) R—A,Q—-B,P>C
(c) R—>C,Q—-B,P—>A D) R—->B,Q—H>CP>A o
78. Loudness of sound depends upon : i SR
(A) Amplitude : et ) ‘ Wavelength
(C) Frequency 0 " (D) Time Period
'ua‘re‘ruawﬁsaaaaae‘rzr sl e L
(A) HTEH . (B) 3dar SuEr
(C) »rfeat (D) M<=IS TH
79. Sound can never travel through ... hoie S
(A Air i B) Solids S
(C) Water (D) ' Vacuum
lﬁffﬁﬂTﬁ%¥rEﬁEJTGFHEEﬁTEﬁTFRYéT
A) g=T . (B) SH
(C) ur=T D) us™
80. An object oscillates 60 tlmes in one second. Its frequency is..
(A) 30Hz (B) 60Hz
(©) 120Hz (D) 20Hz
a8t =ng fiq Afgs f&o 60=€ﬂizﬁs?;aﬁﬁifErEr“ﬁﬂTiﬂ'nwdéﬁérznwl
(A) 30Hz B) 60Hz
(©) 120Hz (D) 20Hz
———

TR
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81.

82.

83.

- 84.

85.

BIOLOGY (wite fefaris)
Nitrogen fixing bacteria is present in the roots of which plant?
(A) Rice ‘(B) Mustard
(C) Pea » (D) Wheat :
A = (B) Aq j _
©) wew R
The production of crops without using feruhsers Is.. .
(A) Organic Farming - (B) Mixed Cropping
(C©) CropRotation - D) None of these o) '
w@mwammwm@w@sama o ATE 5
@ Afemast ® P dst o
(©) B & wiwsT vent D) feost &S a9 aat
Vaccines are made up of .... e : R . sy
(A) Fungus < B) " St benzoats
(C) Yeast b (D) . 'Weak or dead ImicCro-organisms
dar ([arts) faw 3 geot &7 ' | ;
@) €t B Wit SeaEe
©) wilg o (D) DT AT HT T gun e
Which of the following diseases cured using antibiotics? 3
(A) AIDS E - (B) Dengue
(C) Typhoid (D) Malaria
mﬁmﬁmsmmm@ﬁmmémaﬂﬁn@a?
(A) &7 i - ® 37 -
(C) creterety Y T D) HETtHr
The gas released during the pl;gparatmn of bread is..
(A) Oxygen " e (B) Carbon dioxide
(C) Nitrogen N R (D) Sulphur dioxide
I8 3t famg ga5 B9 ... 3 w=et &
(A) " IAtAS B) ITES IEHERTE




ational Biodiversity Day is celebrageq on

6 Interﬂ
(a) 21 March ®) 171
() 22Apl ©) 22 1\:2;
jygaamedt 7= FSf8a3T feen fam for werfon wiar 37
») 21 HTe9 B) 17 ¥
) 227 ©) 22 veh
5 Red Data Book is a book which keeps a record of all the
; @ Endemic species (B) Extinct Sp.E;.CiCS
() Endangered species (D) Vulnerable species
g greT B R wifmdt fagw S qmy wfaalséu@fﬂ

'(A)W?sauw—:ﬁw

@®) MBY T FAPHT yarIngt
() ¥IT € & 3 UIT St ymrIoort

) MASTEHS YATShat

Whibh one of the following is a hermaphrodite?

. (A) Earthworm. . (B) Hydra
_ (C) Amoeba (D) Yeast
- fegst &5 faasT dAle S-f&ait 37 |
@) T (B TEET
(C) HTET D) uHla
The smge'of the embryo in which all the body parts can be identified
(A) New born baby ' (B) Sperm S
(C) Foetus ‘ (D) Zygote
m?%mm%ﬁmemwamﬁwma
A) AT | ®) FEEE
(€) 33T (D) I+
. Which of the following hormone is produééa by Pituitary gland?
(A) Insulin (B) Oestrogen :

(C) Growth hormone (D)’ Thyroxine

8) fesufas (B) MHEHS
(C) =gr TEHS (D) Tfeaaiis
' (Set - A) {21}
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SOCIAL STUDIES (RHTfe fefars)

91. What &ype of Minerals are iron, copper, gold, silver?
(A) Atomic Minerals (B) Metallic Minerals
(C) Non-Metalljc Minerals
3T, Figr, A&T, St faud ufsq uewag 97
®) g ufew

(D) Al of these

A) yavs yfsq
O »urg yfsgy ’ O GuEET I
92. What is the best type of coal? .. o
() Anthracite (B) Bituminous
(C) Lignite i DY Peati 3
ﬁﬁw&wfaﬂnma? WBRERE RSN
(A) Heoreie ®) ‘Fa“ gy Sy et
(O fzarsTte © W :
93. What percentage of India’s area is covered by forests"
A) 18% ® 222%.
(©) 33% (D) 359 |
memwﬁ?m%mwa? e i R
(A) 18% ; (B) 2229

(C) 33% o) 35%

94. Which land revenue system was mtroduced in Benga] by Lord Comwalhs in 1793 AD”

(A) Bidding System B (B) Permanent Settlement
(C) Ryotwari System (D) Mahalwan System

1793 &t kvmaawﬁmamhvhas*mﬁmmﬂaaﬂ??

(B) w*a’ra?ans'

(A) femrderat YT
(C) grfeg=rat Y s, s (D)Hﬁwafrz{srcr

95. What was the immediate cause of the uprising of 1857 AD?
| - (B) ::Stop the pension of Nana Sahib . . .

(A) Policy of Lapse
(C) Propagation of Christianity (D) :Greased Cartridges

1857 €. € feudy v I3 HE a9 at Ai? |
(A) ByF &t a1t o B) &&T ArfaT S Uews T g9aT.
(C) fenmet uaH €T ydud D) S T& aagn

(Set-A)
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R TR

ith Whose efforts the Hindu Widow-Marriage Act w
as passed in 1856 AD?

# A)l Jshwar Chandra Vidya Sagar e
(©) St Syed Ahmec Khan (D) e Ram Molian Roy
1.\356 eT &g fane w3t Fegr e fe_q)eers Annie Besant
) =T §<9 fefen o b fenra sz ol ot
) 78 R D (D)WwHaiava

_ ho founded Namdhari Movement? HIHST At Fie
.‘_ A) _RajaRam Mohan Roy ®) Swami
(€) Swami Dayanand S Sﬁ:ml V“’eka“a“fla
ot Bt S A fa & sy gt L
3 (A)an?xwé B) Fent fe2ade
QT TS )+ wfrg T

g8, When was the Constitution of India framed?. i .
() 26 November 1949 B) 26 January 1950
(C) 15 August 1947 (D) 26 January 1947

 ggg & Afews o€ ¥ & frg fenr?.
(A) 26 &=HT 1949 (B) 26 AG=IT 1950
() 15 mAWS 1947 (D) 26 A=A 1947
g9, Which is the highest court in India?

, (A) High Court B) Supreme Court
(C) Tehsil Court | (D) None of the above
grgg &t Ag T <3 MEB3 faaat 97

(A G eSS B) FISET MEBI

(c) Sforites METES , ©) Quias & F& &1
100; How many languages are recognized by the Constitution of India?
B 19 ®) 22
©) 23 ® 24
&) 19 ®) 22
©) 23 D) 24
101. Which mineral is used to make steel from iron?
(A) Mica (B) Manganese
(C) Aluminium (D) Limestone
himmmmmwww@?ﬁ
(A) wEa @) AEBIH |
(©) HisTI © & TUT

MIx-24) (

-
Set-A)
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102. What are cyclones called in India?
. (A) Storm (B) ' Typhoon
| (©) Hurricane . (D) All of the above
i SRS § g fidg ot faar wher 37
| A) gz ®) Tfess
| (© s ©) QuisT AT
i 103. I\Z;i‘:)type of soil is found in the dark shaded area shown in the map of
!. (A) Desert Soil (B) Red Soil
| (C) Black S_oﬂ (D) Laterite Soil
(A) HgEst fird | B) T fiiet
(©) T3t fuer D) Feardie it
104. When was the first war of Carnatic fought? '
(A) 1746-48 AD (B) 1756-58 AD
(©) 1736-38 AD (D) 1764-66 AD
IeaTTes o ufveT g A Sy
| (A) 1746-48 €t. ‘ (B) 1756-58- €t.
(©) 1736-38 . s (D) '1764-66 €.
105. Where was first tea garden developed by the Britishers in 1852 AD?
(A) Assam bty ‘(B) Bengal
(C) Punjab (@) Madras
1852 €. <9 wemat & ufasr 979 e vt fa'd sarfon
(A) »A™ B) s
(ORIEL: (D) HWETH
- 106. When was the Hunter Commission established for the Development of Education?
(A) 1880 AD ‘ (B) 1881 AD
(C) 1882 AD (D) 1890 AD.
Wefaamaﬁmaﬁmwe?waeaﬂa’rm?
(A) 1880 €&t. B) 1881 &t. -
(C) 1882 =t (D) 1890 et.
(Set - A) {M-IX-24)
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The National Son .
107. g of India is part of which nove] of Bankim Chandra Chatterjee?

108.

A) Godan
© da Math (B) Rang Bhoomi

R (D) Darpan
= VT Seant ¥ faw s o fonAr 37
3 31?—‘:'7':' (B) g3 At
(©) mEe e D) Eau;
What is the full form of ATM?

(A) Automated Teller Machine (B) All Time Money

C) Any Time M
(C) Any oney (D) Advance Time Money

RIS ———— =

ATM €7 Ud™ & & J7
o) jreNles <ad yes, ®) s e et
(©) Hot ZT i et ©) Hs=i e wat
109. Since when ‘Right to Education Act’ has been implemented in India?
(A) 4 August, 2009 (B) 1 December, 2002
(C) 1 April, 2010 ©) 1 April, 2009
grag <9 fAfwrr e wiftae #ige e 3 sar 97
(A) 4 MATHS,; 2009 _ ®) 1 =, 2002
(C) 1 W{®,2010 (D) 1 MyS,2009
110. Who resolves differences between the two houses of Pal;liament?
(A) Chief Minister . ; (B) Prime Minister
(C) President (D) Vice-President
AT @ Sat Aust f¥T 58 H3gT § d< g9 a9 37
(A) Hy-H3dt : ®) yus w3t
(C) THEIUST D) Gu-gHeaust
111. Human intelligence, knowledge and efficiency is called whichtype of resource?
(A) Natural Resources (B) ‘Human Resources
(C) Both (A) and (B) (D) None of the above
WEYT g, famirs WS & 995 ©f gassT § fager Aus fagr Ater 37
(A) I3t ATUS T (B) MY ATOS
©) (A)mM3 B) < (D) Qusaz << aet &t
(M-IX22) (Set = A) (25
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112. Approximately what percentage of our earth is land?

(A) 28% ' in(B) ($29%
(©C) 71% D) 75%
At wast wr &8 yIwe forr mits (8% 3man) 97
(A) 28% B) 29%
©) 71% D) 5%
113. ‘It is a soft and brown colored metal, found in igneous and metamorphic rocks?
(A) Manganese e s '.(B) ‘COPPel"
(C) Bauxite M v D) FGold .
&trfe—ormwaa-aare?wzr fma’rmarzﬁmsmﬁsazwfé%‘rﬁme’fa?
(A) Rarsta @ 3 |
© FEHEz v e (D) Rer St _
114. When did the modern penod beg1nmEurope‘7 Hanedloy :" R e ) 53f7E ST RE
(A) In 18th century “{(B) In 15th century
(©) In 19th century TE D) In 16th century
muf‘ekuﬁsawwnma—em? .
(A) 18<t met fiw o0 ®) 155t wet s
(©) 19%F met f&w s s (D) 16%"I'H€Tf€?
115. When did the “Battle of Plassey take place? . A
(A) 23 June 1855 w0 (B 23 July 1857
(C) 23 June 1857 S (D) 23 June 1757
‘UBsTHY & e a9 Je? ’ | 2
(A) 23 g5 1855 o (B) 23 IS 1857
(C) 23 95 1857 ' ; D) 23 95 1757
116. In which area ‘Birsa Munda’ started the revolt? :
(A) Odisha  n (B) . ‘Bihar
(C) Chhota Nagpur GALRTN (D) Punjab
A & > ®) fagrg
(C) €evdQyd . ©) Wy .
{26} (Set-A) | <24}
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117 - Which British officer Stopped the pension of N
" (A) Lord Clive

©) Lord Minto

ana Sahib?
(B) Lord Munro
(D) Lord Dalhousie

® 12

; ») 18
-.’::?"f."afﬂz'd'ugzr gt HIT I55) f’om‘ H'ET S™HHATE o9 Ager 97
®) 12

= D) 18 -

119 | .‘When can a ‘Public Interest Litigation’ be filed? - ;

;:‘(A) To defend personal interests ~ ~ (B) To defend gov&rnrnent mtefeStS

- (c’) To defehd public ntrest f : = ) Allofthesbove 5 8

() foe fomt S mE @)mﬁ?@mm
‘.f“_,(C)WﬁBTETaTuTEE"r s )@mm :
120 :Indla has adOpted Fundamental nghts from the constltutmn of o
lf.(A) Russia = (B) US.A.
(C) France : (D) ,Englar_ld o e i
mawf&rarnrfua"a .......... @ﬁfemﬁ?}f[fq?z‘ra“rmaﬂ?l
@ @ . ® vr»me
. © @@ @ fds

: | . 3 {27}
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| Wﬁ?ﬂﬁﬁwaﬁwmééﬁﬁgwwgﬁ;'m *lmfg
| Wm@23(§ﬁ)m‘ﬁlwgﬁﬁﬁqgﬂg%ﬂwmﬁéﬁg

T IS gzur 73, T grer fug)

Wg et fe9 = — HTET )5 g
S =t 3 gfther| wige Uare @ 99 €898 7 L medl m3 Y 5 =
St G e g o g, WO w3y 2 T g
Walmﬁémeﬂnﬁ%ﬁ@l@wi{gw’ Gl
Flm%mﬁﬁéﬁaﬁfeﬁﬁ‘fﬂﬁm E5
121.49 &9 we fag e & &y s
INRIICEEE] B) HB<"
(C) yA™= D) 3
122 JueTe § forw et R e faor AP
A) &<t ®) A=t |
©) JRPTEL © I B
123.Hﬁqga:wm,m.m”ﬁ HE‘?»‘faaE?a?r? ..
(4) FfdE 3 A% < () TR F ETE S  SRE
(C) vH™@ I grrET . il M3
124.3UsST § fam It & afen? e
ETE S R A
3 (B) JaHd
125.§ume°ré31m§gﬁﬁea°r%é it S
@) 42 fadtes o T s AR
© 32 o _ g)\_zsfa?f»ﬂ?o'
126 .47 femmar 59 foaat ___.D) 52ia8Hies
@A) Tt Quser St wiel B
127.‘v3& ¥AT & 39t g D) gt :
. ST MG 351 o fS
A) Afrergy fofipe S5 el mw fow yare e fefime 37
(C) mkﬁﬂg (B) whﬁﬂ? 15 a-.
128.4°39" Hae o fqr wes D) famdergy fod
] TOH— L femime
(A) Y'sat S -
(C) Y'etmt ®) y3et
129. ‘IS’ Ayw fay .. O Syixz gy
@A) e ydg & i §7? = Hg
. (C) ¥™H &ig B) g= st
CWE=T Y @ femar 3 D) fea's
ar I
(A) TS T wmmmﬁﬁh-g“? o
\J 5 a‘
{ © Ifeuz am ®) FTZagm
28) D) Suigg
4 %ﬁ:%
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ENGLISH (Ward#t)

Read the following passage carefully and choose the correct options for the questions (131-135).
Good health is often described as a priceless treasure. Maintaining good health isn’t just a luxury;
it’s a necessity for leading a fulfilling life. When we prioritize our health, we ensure that our bodies
function optimally. Regular exercise, a balanced diet, and adequate sleep are the building blocks of
a healthy lifestyle. Exercise not only keeps us physically fit but also contributes to mental well-being
by reducing stress and anxiety. A nutritious diet supplies our bodies with essential nutrients, vitamins
and minerals, giving us the energy to carry out daily activities and boosting our immune system.
Moreover, sufficient sleep allows our bodies to rejuvenate, repair and recharge. In contrast, neglecting
our health can lead to various health problems. Sedentary lifestyles and poor eating pgbxs can resglt
in obesity, diabetes, heart diseases and other ailments. Such conditions not only diminish our quality
of life but also incur significant medical expenses.

131. What is the significance of prioritizing health? -
(A). Arace (B) A necessity

(C) A trend (D) -An option
132. Which of the following is NOT a component of a healthy lifestyle?
(A) Regular exercise .- (B) Balanced diet
(C) Adequate sleep (D) Stress
133. How does exercise contribute to mental well-being? :
(A) By increasing stress and anxiety - (B) By reducing\stress and anxiety
(C) By causing sleep disturbances . ~(D) By promoting sedentary behaviour
134. What can neglecting health lead to? ' e y
(A) Financial success - (B) Improved quality of life
(C) Various health problems +(D) Holistic well-being
135. What is the meaning of the word ‘treasure’?
(A) Wealth (B) Liability
(C) Debt (D) Misfortune
136. Choose the correct antonym for the word ‘Notorious’. -
(A) Succeed (B) Raise -
(O) Exit (D) Famous
137. I am Senior ........ceeee . him. (Choose the correct preposition).
(A) For - (B) By
(C) On iy ED) ¢To

138. Choose the correct sentence from the following : :
(A) This book is better than that book. ~ (B) This book is better then that book.
(C) This book is better to that book. (D) This book is the better than that book.
139. Choose the correct noun form of the word ‘Happy’.

(A) Happiness (B) Happily
(C) Happyness 4 (D) Happied
140. ................ with fire is a very risky game. (Choose the correct Non-finite verb).
(A) To play (B) Play
(C) Played (D) Having played
h——
(MIx24) (Set-'A) {29}
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(A) §E©

(€) T ‘ A
142.‘m'wwﬁuﬁﬂmgﬁl A
(A) FTHAE »;.(B)
© T e o
143, ‘UTE’ VX T WEl WiFETHR -gsn"gjl =
e ; f_j(B)

(©) wr ®
144, 4 Ro T e A A R AR AL

(A) T

(C) ¥ -
146. 3R IR & T TH WT‘T’;"%@;

(A) gar= | S hehag >

() Tt  taNoR

TeHd & 7 e ; ERIESIBES!
148. e 3 argare for forme o
(A) FEFFA A IME
(C) T IS kel & 3
149. Hid & SFTAT T-EaTs A B
(A) 5@ F@ farg ST e
(B) ¥ FH Whel T TAE
(C) v dra fomm ¢ F1 Fea ST
(D) & A H I & |

150. WA TETr R wfa W o €2
(A) FER _

(C) g™ b
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